
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/pwbs-14cs-table-and-trunnion-assembly
7/4/25

PWBS-14CS - Table and Trunnion
Assembly

Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/pwbs-14cs-table-and-trunnion-assembly


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/pwbs-14cs-table-and-trunnion-assembly
7/4/25

Description

Index
Number

Part
Number Description Size Qty

41 PWBS14-141 Table  1

42 PWBS14-142 Table Insert  1

43 PWBS14-143 Table Pin  1

44 PWBS14-144 Trunnion  2

45 PWBS14-145 Trunnion Clamp Shoes  2

46 TS-1491081 Hex Cap Screw M10 x 50 2

47 PWBS14-147 Hex Head Flange Bolt  6

48 TS-1490151 Hex Cap Screw M8 x 80 1

49 TS-1540061 Hex Nut M8 1

50 PWBS14-150 Trunnion Clamp Shoe  1

51 PWBS14-151 Knob M10 2

52 PWBS14-152 Scale  1

53 TS-1490071 Hex Cap Screw M8 x 40 2

54 TS-1551061 Lock Washer M8 2

55 PWBS14-155 Pointer  1

56 PWBS14-156 Pan Head Flanged Screw M5 x 6 1

62 PWBS14-162 Extension Plate  1

152 PWBS14-252 L-Spacer  2

Additional Information

Stock Number 1791216K-4

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/pwbs-14cs-table-and-trunnion-assembly

